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[1-2] Choose the word that has the closest meaning to

the underlined word.

1. Water is essential for the survival of human beings

and all other animals. [27]

D immense @ sufficient 3 exquisite
4 common ® necessary

2. This novel is intensely concerned with man’s struggle

with nature.

D roughly 2 strongly 3 basically
@ generally & comparatively

3. What does Becka mean? [27]

Peter: 1 have decided to go to Paris for vacation. All
my life I have dreamed of this!

Becka: It is going to cost you an arm and a leg.

You'll have to save up for it.

IS}

O The trip to Paris
2 The trip to Paris
@3 The trip to Paris
@ The trip to Paris

® The trip to Paris

will be interesting.
will be uncomfortable.
will be expensive
will be tiresome.

will be dangerous.

4. Which of the following best fits into the blank? [27%]

A Excuse me. Did bus number 10 pass?
B: You're a little bit late.
A: Oh, my god. I'll be late for the meeting.

D Pick up speed
@ It just left

3 You call the police
@ The traffic was jammed

It’s about ten minutes’ walk

5. Which of the following best fits into the blank? [3%]

In the colonial period, English the only language

that produces appropriate culture in society.

7N

D was regarded as & was regarded
3 was regarding @ regarded as
= .

& was regarding as

82 258Y.

6. Which of the following is the most UNNATURAL?

@ A: The weather is great, isn't it?

B! Yes, it's a perfect day for a picnic.
2 A: It's too hot to play cricket now.
B: Why don’t we play in the evening?
3 A: Can you tell me the way to the post office?
B: Send me a postcard, please.
@ A: I'm sorry to keep vou waiting.
B: Take your time. I'm in no hurry.
& A: How is your salad?
B: The dressing is a bit salty for my taste.

7. What does the underlined 'It’ refer to? [3%]

It is a written self-account of the life of a person. It
take

journals, and memoirs. It offers a special kind of truth

can many forms including letters, diaries,

in life, reshaped by recollection. For this reason, it is

called "a sort of life” which is highly subjective.

@ monologue 2 biography 3 drama
@ collaboration & autobiography

8. Which of the following best fits into the blank?

Students in both the U.S. and Korea spend a lot of

time studying foreign languages. , the reasons

why students study foreign languages in these

countries may differ. For example, students in the U.S.
study foreign languages in order to learn about other
cultures. On the other hand, students in Korea usually

study foreign languages to achieve good grades.

@ Additionally

@ Consequently

—)

@ Therefore & However

2 \
& Ideally

9. Where does this conversation probably take place?

A: Do you have Harry Potter?

B: Yes, sir. Would you like the hardbound edition or
the paperback edition?

A: T'll take this paperback edition.

B: Thank you. We're giving a 30% discount on the

printed price.

In the library In a printing house
In the bank

In a bookstore

@
@

In the movie theater
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10. Which of the following best fits into the blank? [23]

A: Is there any penalty fee for -cancelling my

reservation?
B: . I can hardly hear you.
D Speed up 2 Check out & Break up
@ Watch out ® Speak up
11. Which of the following is the most suitable in the

blank?

Student: Professor, I have some questions about the
mid-term exam.

Professor: I'm sorry. I have a meeting in five minutes.

Student: Could I please schedule an appointment?

Professor: Sure.

How about three this afternoon?

) ©

&

I think the test was rather easy.
I can't figure it out.

Can you study before we meet?

» The exam is tomorrow.

12. The author of the following passage mainly writes

about

For children and adolescents, obesity can contribute to
serious health problems, delay academic achievement,
increase chances of being bullied, and lead to lives as
overweight or obese adults. It may also bring
significant financial problems.

*obesity: H|] %+

e

) ¢

(\)

' the harm of obesity
) the treatment of obesity
the research on obesity

the varying rates of obesity

) the causes of obesity

[13-14] Read the following passage and choose the best

answer to each question.

The Big Bang theory is the most widely accepted
model for the origin of the universe. It states that
about 15 billion vears ago, the initial universe was
compressed into a tiny Dball which exploded.
Immediately following this explosion, the universe was
extremely hot and dense. As it spread out, it began to
cool and particles in space began to form clouds. Each
cloud gave rise to the various #*galaxies. The
gravitational attraction between the clouds has acted
as a brake and slowed the expansion of the universe.
However, this expansion has not halted completely; the

universe is still slowly growing.

xgalaxy: <3}, A%

13. According to the passage, the expansion of the
universe _____. [3%]

has never happened

is still continuing

has become much faster

has stopped completely

only lasted for a short time

14. Which of the following is NOT stated in the passage?
What the Big Bang theory is about

When the universe was born

How the universe began

Who made the Big Bang theory

Why the expansion of the universe has slowed down

[15-16] Read the following passage and choose the best

answer to each question.

A sandwich is a food item made by inserting one or
more fillings between two slices of bread. Popular
fillings include ham, cheese, and vegetables, such as
lettuce, tomatoes, and onions. Sometimes the bread is
coated with *condiments such as mayonnaise, mustard,
or ketchup to increase the flavor. The sandwich was
named after the 4th Earl of Sandwich, John Montague,
who was an English =*aristocrat in the 18th century.
The Earl of Sandwich was very fond of playing cards,
and he wished to continue playing cards without
pausing to eat lunch. One day, he ordered his servant
to bring him some meat placed between two pieces of
bread. The Earl of Sandwich discovered that eating
lunch in this way allowed him to continue playing
cards while eating. Eventually, spectators of the card
game started to order ‘the same as Sandwich’ when
they wanted to eat this food for lunch.

xcondiment: &g, ZH &

saristocrat: H =

—_
[$)

Which of the following is the main topic of the
passage?
The origin of the word 'sandwich’
How to win a card game
The different kinds of vegetables
The life of John Montague
English aristocracy in the 18th century

—
»

. According to the passage, which of the following is
true? [34]

A sandwich is bad for your health.

Sandwiches are relatively cheap.

A sandwich is a convenient way to eat lunch.

Sandwiches are high in cholesterol.

Sandwiches are popular worldwide.
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[17-18] Read the following passage and choose the best

answer to each question.

[19-20] Read the following passage and choose the best

answer to each question.

Jazz began in New Orleans in the late 1800s. It was
called Dixieland. Small

melody

ensembles started with a

and then =*improvised. Soon, Dixieland jazz
moved to cities in the northern states like Chicago and
St. Louis. This was during the 1910s and 20s.
Northern jazz was stronger in style than southern
jazz. Solos became more popular with northern
Dixieland as well. In the 1920s, Chicago became a new
center of jazz music. Musicians like Louis Armstrong
became famous, and hot jazz appeared. Hot jazz was
more impulsive and had a faster tempo. In the 1930s,
jazz bands grew larger to play swing jazz, and Count
Basie and Duke Ellington became stars. Dance also
became popular with swing jazz. Still later, in the
1940s

considered more

and 50s, bebop replaced swing. It was

sophisticated than earlier styles.
Dance fell out of flavor. The cool jazz of Miles Davis
gained a following in this period.

*improvise: &8 A 53}c}

"When I was young, my parents told me to stay away
from mushrooms, that their *spores would blind me,”
Paul Nevertheless,

Stamets has devoted his life to the study of *fungi. In

says Stamets  good-naturedly.
1980 he founded the company Fungi Perfecti, which
Why

According to Stamets, many of the estimated 150,000

sells mushroom cultivation Kkits. mushrooms?

species of mushrooms have various benefits. Some
which

environmental benefits include the oyster mushroom,

examples of mushrooms may  provide
which can break down oil from spills and the King
Stropharia mushroom, which filters bacteria out of the
water supply. In addition to their potential
environmental benefits, mushrooms also have a long
history of being used to promote health. For example,
the morel mushroom may improve liver function and
bone density. The turkey tail mushroom may help
strengthen the immune systems of women with breast

cancer, and the reishi mushroom has been used as an

17.

e

18.

Which of the following is the best title of the
passage?

Famous American Jazz Musicians

Comparison of Jazz and Other Music Styles

Difference Between New Orleans Jazz and Dixieland Jazz

Development of Jazz Music in America

Basic Elements of American Jazz

According to the passage, which of the following is
NOT true of Dixieland jazz? [34]

It began in New Orleans.

It was usually performed by small groups.

Its style became more powerful in the North.

Soloists gained more popularity in the South.

It had a slower tempo than hot jazz.

herbal medicine in China for over 2,000 years.
sspore!. &4

*fungi: TH

19.

® e

Do
©

According to the passage, Paul Stamets’s parents told
him that if he got close to mushrooms, he would lose
his ability to . [23]

eat @ see

3 smell

run ® hear

According to the passage, which mushroom can have
a positive impact on women with breast cancer?

The oyster mushroom

The King Stropharia mushroom

The morel mushroom

The turkey tail mushroom

The reishi mushroom
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